2018 SDC Rd. 1 S Class Z2& 7| £X|

1XFA| 7] 2XtA| 7| 3XtA| 7|
Lead
9{' § Entry Name /Chas PSPV o AMALo| 2l o MAtol g
NO =9 o A Al
1< 3¢ 2AHE A 10 10 10 47
1691 869 ZEHEE = 13
16 1™
1 1691 869 ZEHE & 4
190 38 2H&E = 6 6 5
Winner / Memo 34 0 0
8< 91t &8 o 3 3 3 30 6 7 4 34
9% o xXSA = 7 7 7 30 4 3 6 26
16 2%
2 9% 6o xsSA A 3 3 3 4 4 5
8<% 911 EER = 7 7 7 6 6 5
0 8 0
4% 778 olgxN A 9 10 10 43 0
—— 139 3c9 2AEYW = 1 0 17 0
3 139 39 2U=Eef A
42 779 0|9E = 5 4 5
Winner / Memo 26 0 0
59 958 XA A 6 6 55131.5) 7 4 14.5]28.51 5 7 6
129 31 HAE = 4 4 14.5]28.5]1 3 6 5.5]131.5] 5 3 4
162 4%
4 129 31 &X&E A 6 5 6 6 5 5 5
5% 958 xAHE = 4 5 5 4 4 5 5 5
Winner / Memo 3 3 6
2% " d3E=zg o 6 6 6 34 0
162t 5% 15% HO SN = 4 4 4 26 0
5 159 789 sHE A 6 4 4
22 18 HEz = 4 6 6
Winner / Memo 8 0 0
7% 88 xIX= & 5 5 4 33 0
104 108 23 = 5 5 6 27 0
16 6&
6 104 o 2sed o 3 4 4
7< 88YH =X = 7 6 6
Winner / Memo 6 0 0
3< 388 BHI|Ef A 6 6 6 34 0
149 299 UEHE = 4 4 4 26 0
16& 7&
7 149 294 LIad & 4 5 5
3 38H BB #F 6 5 5
Winner / Memo 8 0 0
6% 2H EHE M 5 5 5 29 0 0 0 12




119 148 204 = 31 10 10 10 48
162 8&
8 119 148 2od A 5 7
6<% 2 EHE = 4 4 5 4
Winner / Memo 2 36 0
Lead
9{“3 Entry Name /Chas AlALo| 2l N AMALo| 2l N MAtolgl
NO =9 o A Al
1< 3¢ 2AHE A 5 451 33 0
8% 91 IR = 4 5 |55 27 0
8 1&
1 8% 91 & « 3.5]1 5
190 3¢ 2ZH&&E = |6.5] 5 6
Winner / Memo 6 0 0
49 77H 0lgld A 7 7 7 33 0
59 95| EXAME = 3 3 3 27 0
8 2™
2 59 9581 xAE A 6 6 6
4% 7E olgd = 4 4 4
Winner / Memo 6 0 0
29 M H3EE A 5 5 5 30 0 0 0 16
74 88 FKNS = 5 5 5 30 10 10 10 44
8& 3™
3 74 88 xIX=s & 5 5 5 5 5 4
29 1 dEg = 5 5 5 5 5
Winner / Memo 0 28 0
3% 38H EHJIEN A 10 10 10 47 0
1191 148 2old = 13 0
82 4%
4 119 148 2ed A
39 38" EHJIEH = 7 5 5
Winner / Memo 34 0 0
ol & Lead
~o Entry Name /Chas AlAtol gl N MAtol gl . MAto| gl
NO =9 o A L
1< 3H 2EE A 6 6 6 34 0
49 77 0lgd = 4 4 4 26 0
42 13
1 49 778 0lgx™ A 4 5 5
191 381 2&E = 6 5 5
Winner / Memo 8 0 0
3¢ 38 EBHIIEN A& 10 10 10 30 0
42t o 74 88H =X = 0 0 0 0 0
2 79 88H zIXNE A
39 38H ZIEf =
Winner / Memo 30 0 0
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19 3H 2488 A
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